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Note:

(a) All questions are compulsory.
(b) 15800:2007 and Steel table or IS 808 is allowed.

Q.No

Question

Q1

angles are connected to either side of a 10mm gusset plates and the

A tie member of a roof truss consists of 2 ISA 100x75x8mm. The |
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memberis-subjected to a working pull of 300 KN. Demgn the
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tension of 400 KN. The end connection is done- usmg hlgh strength
M24 bolts of the property class 8.8. As am the connection as
bearing type, fy = 250 MPa and fu = 410 '

CO3

Q3

Determine the load carrying capz—iéi a strut made with 2 IS4

75x75x6 mm, back to back if the ; ength of member is 3.0 m and

welded to a 12 mm gusset pla';_ s
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Q4

fnpressive load which the member

Determine the aIlowabl

shown in the figure below, can support if the member is having 5.5

m effective length. Assume E 250 (Fe 410) grade steel.
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Q5

A cantilever beam of length 4.5 m supports a dead load (including
self weight) of 18 kN/m and a live load of 12 kN/m. Assume a
bearing length of 100 mm. Design the beam.
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